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> (2(v),2(v))02:-000000000 z>00
> p(u,v) = (z(v) cosu, z(v) sinu, z(v)) O
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gad

cosu —sinu 0\ [z(v)
p(u,v) = | sinu  cosu O 0
0 0 1 z(v)

=z(v)er(u) + z(v)es

cosu —sinu 0
ei(u) = (Sinu) , es(u) = ( cosu) =ej(u), e3= (0)
0 0 1
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p(u,v) = x(v)ei(u) + z(v)es
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Joob1igodn

p(u,v) = (cosv COS 1, COS ¥ SIn U, Sin v) = cosveq(u) + sinv es
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gd
oobb «e0O0O0BMDOOODDO

p(u,v) := (asechv cosu, asechvsinu, a(v — tanhv) + bu)

oogg

.00 p:R2-R3O0000000000000000O0O0
00000 (cRHODDOOODDOO

2. 00 pOobO0oO0oobOOobDOobOobbOObObOObOODODO
ooo
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cosu —sinu 0 asechv 0
p(u,v) = | sinu  cosu O 0 +u |0
0 0 1/ \a(v —sechv) b

= asechvei(u) + (a(v — tanhv) + bu)es.
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p(u,v) = asechvei(u) + (a(v — tanhv) + bu)es.
Py = asechves + bes,

py = —asechvtanhve; + atanh?ves

= g tanh v(— sechve; + tanhwv 63)

1
v = —(atanhve; — bey + asechves) c=va®+b?
c

Puu = —asechv ey
Puw = —asechvtanhves

Doy = asechv((Q tanh? v — 1)e; + 2tanhvwsechv 63)
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~)

(02 —a%tanh®v  abtanh?v

abtanh? v

a
— tanh vsechv (
c

1

acsechvtanhv

(

a? tanh? v

—a b

b a)’

—atanh? v 0
b asech? v

K =

-1
2’

H = 2—c(cosechv — sinh v)

2020/12/10

) , det T = a®c® tanh? vsech? v
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p(u,v) = asechveq(u) + a(v — tanhv)es + bues.
> 2-0000000 a(sechv,v—tanhv) 00000000
goo

> 000 (Gauss) DO OO

00 «?+0>=10000
> 0 GaussOO —1 000 DiniOODODO
> a=1,6=00000 Beltrami OO OO
> Gauss OO0 O0OODODOOOOOOO0OO00O0
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00

00 F:R® RO F(r,y,2):=2*+¢y*+24-10000000
F-l({0})) 000000DD0ODD0O000000DDO0O00 (a,b,c)
0000000000000 000000ooo

§:=F({0}) ={(z,4.2); Flx,y,2) =0}
dF = 4(z3,43,2%) = (0,0,0) & r=y=2=0
dF #(0,0,0) on S
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S:=F1({0}) = {(2,y,2); F(z,y,2) = 0}
dF = 4(23,43, 2%)
S>P=(a,b,c)

c#000 POOODO SO z=f(z,y) 0000000000

o B
T Fz 23’
F, y3
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F, z3 F, 3
fl‘:_Fw:__?)? fy __y__y_37
. z F, z
3x 3
ww:_7( 4+ 4)__7(1 y4)7
—3x3y3
fzy )
z
2 2

fzwfyy - 12y . 9a2b202
L+ 2+ f7)

~ (aS + b5 + 6)2

(mfyvz):(a»b’c)
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> c£0000

9a2h%c?
(a8 + 06 + ¢6)2°
> c=000007
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9a%b%c? 3(al + b8 + ) 3

T @+ )2 = (ab 06+ c6)2 o + b6 + b

A

> A+bt+A—1=00000 S+ +S5 000000000
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